3000

42 2916 42 150
mftE€R A=k R
/3075 7 LS FiR / (Bl& L)
= A S—— =) oT—
80u i I ol %y
[=2h P
S |w 80
122 i 122 21 |
A=
< BRE®  \
=2 BIRY
2756
50 2656 50
o
Ip]
?
$25.07)L3/814 F 2
SERE S=1/30
(113.9)
110
Ay )—=riRy IR 98 AYEVTER
(BlETE) 85
- T3 - - - L
I = I
BifEE | |r A —i |
, 1500 T > N
7L 2 XK - H L 3
I g || 3
" R4 A 1 -
zoy—y | |
| | | |
7‘\}7 :__: L I
21
150

Eﬁﬂ] S=1/5 [ |

HROEBRRUTHA VIHREED O FELEETIHEAHYES,

. o |7V
oo |RTA RS TR® pHes 4vEvLsER
HE : 715 BRMETH A6063ST5 ) o
B puedtr oy 7—BEnE L —m | DEIRRIU—VRYIR
B |11.7kg A—42)—X by 7, RE—FaY bA—5—EIZEEHE

wan JA T4 -

RE 3
M 1/30 15 P04 v 3 2Ty L s ER S Y—2 (KR HDI6: 9% A X)
B - Rev- 9021/06/28 [&  Kkm-tpizo |\




